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BEIFE - EEGFRILEM - HE - AE BIFLE
2 0 L # 3 £ % £l 3% £ R
£ (FO) SH75E SH65E 15 P51 SH7HE SH64E 3B P SH7HE SH64E b b5
58X ZES % ] % 58X 58X % 0 % 58X 5A% GIEM))
E E L OFE 63 55 8 145 55 38 17 447 87.3 69.1 18.2
®% A 8 1 7 700.0 9 1 8 800.0 112.5 100.0 125
5f & 5 3 2 66.7 1 3 -2 -66.7 20.0 100.0 -80.0
)i X 1 4 -3 -75.0 3 4 -1 -25.0 300.0 100.0 200.0
TRIEMRE 21 17 4 235 20 13 7 53.8 95.2 76.5 18.7
BREEIRE 2 3 -1 -33.3 5 5 - 250.0 250.0
TRIEHLWLVED 26 27 -1 -3.7 17 17 65.4 63.0 2.4
EEHZEPL 672 549 123 22.4 108 324 -216 -66.7 16.1 59.0 -42.9
B A B 596 500 96 19.2 90 297 -207 -69.7 15.1 59.4 -44.3
FEXZR 259 230 29 12.6 25 95 -70 -73.7 9.7 413 -31.6
ToE B 210 163 47 28.8 22 61 -39 -63.9 10.5 374 -26.9
B R H 46 66 -20 -30.3 3 33 -30 -90.9 6.5 50.0 -435
B = % 3 1 2 200.0 1 -1 -100.0 100.0 -100.0
z DO i 337 270 67 24.8 65 202 -137 -67.8 19.3 74.8 -55.5
B & E & 67 41 26 63.4 12 26 -14 -53.8 17.9 63.4 -455
[03=Y K] 1 1 4 4 - 400.0 400.0
El Y 8 7 1 14.3 2 1 1 100.0 25.0 14.3 10.7
£4 (£0) . i A £ %
SH75E SH65E ] P51 SH7HE SH64E # P51 SH7HE SH6E 1B 51
58X SEES A g % 5A% 58X A =l % 5A%K 58K A = %
E Z N F 50 30 20 66.7 50 28 22 78.6 2 -2 -100.0
% A 9 9 - 9 9 -
8 &= 1 4 -3 -75.0 1 4 -3 -75.0
)i X 1 4 -3 -75.0 1 4 -3 -75.0
FRIEMRE 18 10 8 80.0 18 9 9 100.0 -1 -100.0
BREGEIRE 4 4 - 4 4 -
AEIEHWNED 17 12 5 417 17 11 6 54.5 1 -1 -100.0
EEHGEL 46 54 -8 -14.8 39 51 -12 -235 7 3 4 133.3
g A B 37 44 -7 -15.9 30 41 -11 -26.8 7 3 4 133.3
FEXR 14 14 11 13 -2 -15.4 3 1 2 200.0
T oE B 13 10 3 30.0 10 9 1 1.1 3 1 2 200.0
B R & 1 3 -2 -66.7 1 3 -2 -66.7
B = % 1 -1 -100.0 1 -1 -100.0
F 0O i 23 30 -7 -23.3 19 28 -9 -32.1 4 2 2 100.0
B & E & 5 10 -5 -50.0 5 10 -5 -50.0
Dot=<K Y 1 1 - 1 1 -
El Y 3 3 - 3 3 -




